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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and
A Level English (9093), and to show how different levels of candidates’ performance (high, middle and low)
relate to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

Each response is annotated with clear explanation of where and why marks were awarded or omitted. This,

in turn, followed by examiner comments on how the answer could have been improved.

In this way it is

possible for you to understand what candidates have done to gain their marks and what they will have to do
to improve their answers. At the end there is a list of common mistakes candidates made in their answers

for each question.

This document provides illustrative examples of candidate work. These help teachers to assess the standard
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been

omitted.

The questions, mark schemes and pre-release material used here are available to download from Teacher

Support. These files are:

Question Paper 12,

November 2016

Question paper
Mark scheme

9093_w16_qgp_12.pdf
9093 _w16_ms_12.pdf

Question Paper 22,

November 2016

Question paper
Mark scheme

9093 w16_qgp_22.pdf
9093 w16_ms_22.pdf

Question Paper 32,

November 2016

Question paper
Mark scheme

9093 w16_qgp_32.pdf
9093 w16_ms_32.pdf

Question Paper 42,

November 2016

Question paper
Mark scheme

9093 w16_qgp_42.pdf
9093 w16_ms_42.pdf

Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at

https://teachers.cie.org.uk
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How to use this booklet

Introduction

Example candidate response — high

Examiner comments

M$_Grﬂmd_$_5szaLs_dmmdﬂrxxﬁd_hﬂ ~dtrong,

ol T o uﬂ_ﬂﬂ:&m_tm_wﬂcﬂﬁ&lptmhlhﬂ_
._SEPHB.E_CSP.PDQIJIDEA_Q - -

Answers by real candidates in exam \\dfm:_mmdﬁ"—fl
conditions. These show you the types of
answers for each level.

1Qar::meﬂn ]

e attertion ef |
1%.[‘2&!.@9@1&1

Discuss and analyse the answers with
your learners in the classroom to
improve their skills.

s “tais oaewn’.
\ida_a_phmae_temma_nﬂ dfiﬁht_bckﬂx'yﬁﬂmnmpt

dwﬂmma%

m_ﬁﬁg_huw_ﬂ_mmgpummwm

How the candidate could have improved the answer

0 Immediate and purposeful
assessment of the tone of the
passage.

Examiner comments \
s/ are alongside the answers,
linked to specific part of the
answer. These explain
where and why marks were
awarded. This helps you to
interpret the standard of
Cambridge exams and
helps your learners to

krefine exam technique. /

There was some engagement with the passag
focus was very variable and rhetorical devices

This explains how the candidate could have improved the

answer. This helps you to interpret the standard of
The response would have benefited froma mo| Cambridge exams and helps your learners to refine exam

disconnected and this prevented any clear exa technique.

Common mistakes candidates made in this question

The examiner expected candidates to:

Lists the common mistakes candidates made in
» identify language examples and features answering each question. This will help your learners to

the passage

avoid these mistakes at the exam and give them the

» comment on specific effects ofthe chose| pest chance of achieving a high mark.

effect ofthe passage as a whole

Cambridge International AS and A Level English 9093
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Assessment at a glance

For Cambridge International AS and A Level English Language, candidates:

o take Papers 1 and 2 (for the Cambridge International AS qualification)
or

o follow a staged assessment route by taking Papers 1 and 2 (for the Cambridge International AS
qualification) in one series, then Papers 3 and 4 (for the Cambridge International A Level qualification) in
a later series

or

o take Papers 1, 2, 3 and 4 in the same examination series, leading to the full Cambridge International
A Level.

Cambridge International AS Level candidates take:

Paper 1 Passages ' Duration ‘ Weighting ‘
The paper contains three questions. 2 hours 15 minutes 50%

Candidates answer two questions: Question 1, and either
Question 2 or Question 3.

Questions carry equal marks.

Externally assessed. 50 marks

and

Paper 2 Writing Duration Weighting

Two sections: Sections A and Section B. 2 hours 50%

Candidates answer two questions: one from Section A and
one from Section B.

Questions carry equal marks.

Externally assessed. 50 marks

e PAST PAPERS
INSIDE
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Cambridge International A Level candidates take:

Paper 1 Passages

Duration

Assessment at a glance

The paper contains three questions.

Candidates answer two questions: Question 1, and either
Question 2 or Question 3.

Questions carry equal marks.

Externally assessed. 50 marks

2 hours 15 minutes

Weighting

25%

and

Paper 2 Writing

Duration

Weighting

Two sections: Section A and Section B.

Candidates answer two questions: one from Section A and
one from Section B.

Questions carry equal marks.

Externally assessed. 50 marks

2 hours

25%

and

Paper 3 Text Analysis

Duration

Weighting

The paper contains two questions.
Candidates must answer both questions.
Questions carry equal marks.

Externally assessed. 50 marks

2 hours 15 minutes

25%

and

Paper 4 Language Topics

Duration

Weighting

The paper contains three questions, each on a separate topic
area.

Candidates answer two questions.

Questions carry equal marks.

Externally assessed. 50 marks

2 hours 15 minutes

25%

Teachers are reminded that the latest syllabus is available on our public website at www.cie.org.uk and

Teacher Support at https://teachers.cie.org.uk

Cambridge International AS and A Level English 9093
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Section A — Question 1

Section A — Question 1

Example candidate response — high Examiner comments

f’lm Mw;uva /

H"WN; WMM.MWM
Crargdars = nareator, pmotbed, Jrind, Jothar
Sdhmu; « Lirababus Hu/.rwt
Pl = Too bast Mionds one in Eodlandd, oma, n Zirn
Dm%mu/amfb
Lok o woduck me‘ww
S ot eusutsd
P& Fosint

’MWMMM W@Aammnafi
lmélam&mmw;&m

| _om ndt whak [ew\qﬁ' oo l,arflmw;d,bﬂ | @ An eye-catching introduction
M IM—-@?M—SW using an allusion to Othello.

Stimulates interest and informs the

examiner that this is a candidate

Lika. R»Of"w o jalwb b..& I/S'borb wd:‘fb He 0 who is well read and is able to use
mandlin Oﬂuﬂo. This b&ﬁg&&m W sk language devices.
sakhec poaawssor Jﬂr Yo duediin caug ;lipﬁ_-‘uj.-;s GO+
Mo | Sludy e ook o bod ond Mo vestips '
W om-cu.lm to Hmz, wH«w radtiolon s H«wal»bba | el‘sarclionically’, ‘precursor;,
. lfﬂ“ o ‘malevolent’ are instances o
%ﬁd T (g o nut ‘;::kb Eﬁﬂf“t]‘_th"ﬂh‘ﬂw ambitious vocabulary used in an

apt manner by the candidate.

L o quiq to opmar 05 Jor M st (B

\Y

ibfwdw-wlu &Mrmnlmdbmwb

13 §
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Section A — Question 1

Example candidate response — high, continued Examiner comments

i} ( I ].” ] « He ousd w _6 eThis first section manages to

develop a singular idea of a

m? persona who is troubled. The
Now Ha F»P&——h PM. Qrwiendts Ot b reason for the melancholy is not
et ]M ,\M in iy nib So runch ][;LQ pa explained, giving rise to mystery.
Withholding information raises
owatal» oai:wsimplmo .
*‘3 ont oeak, bt rmore d & suspense and stimulates the

mﬂiﬂbo-aﬂ ce (.umum W‘zai% cﬂ Musforbiung . F’cn«cﬁ LiRe_| | reader’s interest.
Wery mmm e-ﬁfm Bore 4o e e nmar’oml

G Spelling error here — and there
are a few scattered throughout the
piece — but it's through ambitious
vocabulary and therefore some
leeway is given.

(R 1 ]
Ok e, 122 Mq s Oure_ard ln sl ach eThe variety of sentence types
ready 11-’" He, dou. 1Y M W Py rusthar so far, together with range of long
__l_(_}_/yv.,b rw"yuﬂ cdl ke ld Ja: ol Ieudmu;@ szb_ .H’UZ_. and short sentences, adds interest
_ . K _@ and pace to the story.
o OV - Toa  Aituplion _
y,n.ab'b:o obawzb 'W%u WW‘ GThehumourusedlnthe

language — using some overly
formal words for a domestic

bodz b Yo poue b hend My Lot M 12,}‘— situation and acknowledging it — is
o He Undod "{wnl{m oaduir Hein on_on masterly.

acadoric Ww Her abeonco bros Loon bilforsmert (78
B!ﬂﬂrw__ojihw W Sometises Jaols Lk [

e The idea of a ‘missing’ person is
L"ﬁt Liads, L‘}a‘l Lo _""‘ o sdueglion uhes L‘gf osiatarce guessed at here by the examiner —
1 wosrovthd }Chﬁf: 04 Sexon,  ab who might have missed the silence

] l;z:»h }ard:, | realip ity b Ae. Howower, it Jros  hoen | | OF the mother in the paragraph
bw(’.ﬁrmw has olhmﬁ& e 0 rea s s above.
Roubitically ond | an d pubd compatibiliby.
m ﬁdﬂi«&m Wﬁm Ljé QError—it should be ‘she and I'.
| roodvsed | loansd Lwd.q on-!)«.@ He, ' M@ i
Q. She b teo bt b o louer sdos [ Leld oo 1P y -
g(wdblu? e q.«u,:l: Wstion [ posibie_se vooud. ) Persona still muses on her ‘los
friend, but find out later th
to_difers ol lost o odds, |wos surong || bit of & false clue meant to trick the
reader.

Q PAST PAPERS
INSIDE
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Section A — Question 1
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Example candidate response — high, continued

Examiner comments

16 boy boon oleost buwo usoks now gne, owr Lost
mmm whedh won o5 Jdloo  and
o5 Pro, g‘xgq w({gﬁj'f

IMMM&W J@MMM
WMW [rpm,ld Mm |
_LM\LM mcwﬂmb mwﬂuptﬂﬂ poity_ond
L@me mlaﬁmb’—upl qu)lld,
. the, _______,_MU’WS.Q@R—@
wf}mnap,dmﬂ%p relive on thea LMJM
wg;m,wkﬂ;owauwwnm}mﬂ
U’DSW ummm:\mw !mm Wung
cartain Fg,opla_“ a;tslw_wMLdG m«o’@tdq whaned
mwbmwmw ﬂfvwbﬁcuwo_,ld‘of"k

ﬂd_hl@éb.ad !:wcu‘b @

_BVIQMMJ@LJ MME(TMMWW
Wk%é&ou tornects Yot Lo hpdnlt Laard
&@3‘: LT MW&Bme&WI&HWEW
miw %mwmw | think

s who m%u»sﬂmwoslae»eo‘[qmdm
mm o Ho bddud o se whee g
moﬁf'ﬂf,l}alz.xt ‘
o o g

o Englot, s lokor thaty dooy me

MW%WMH«LM%@M
@Wmﬁrdﬂ-&mm Hule&l}ﬂosmu&qm

cote. Vis oy "o Milborrre, Niifabs D SMM

%WWWL&LQNWWGWSM &o.fmtﬁmx

@ Complex idea — language use is
sophisticated enough to
accommodate this.

®

«...from (me).” Missing word.

@ Use of metaphor to depict
relationship.

@ Interesting build-up of
characterisation.

@ Another mention of the mother
missing though the persona is too
busy caring about her own
problems to actually pursue this
thought.

Q PAST PAPERS
INSIDE
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Section A — Question 1

Example candidate response — high, continued

Examiner comments

[ﬂMEﬁM MWM‘? Aﬂ. Qe

Oteuss ek Mi‘quhsmwumm}aﬁm&u

.

-Wudofrw%hsmdﬂeﬂlanﬂ

oy sty Jrind
o gl

Shmwmwﬁmm%ww&dw
UL&MMM«Q%M punnt cars wese abuent

Hoo pow a ‘For"goltbfybqn Sﬁ‘nﬂqp_ He, qu e

IMMMWWMMM /}aﬁw

mMMsWWWW

Hvém}m‘f“ﬂtﬂ %HQWM%M%%MMQ

J{Mﬁmmtt&ammxmdm& M&%Mﬁmwéﬁu

mﬂm.fw& J.mML.zpﬁ.@

L

Ouwike. oy - Mmumwfmm@mmm

.W__%fmﬁ@-m Mw%wé ozt

W&memﬁ pade_any

w»mﬂéwuts d:fmmwwmmﬁwm

M.mbﬂuwoflwmﬂ% M;Mml&

b josts Joropls ro bubs serthiy drvotio bod Logued bo
Wﬁ)fﬂ*@%mw Amcun (ums torong. Tf&

mem& Momsdutmm,ibm)cm

Ia:wmlfo}wﬂ O Greds . Catuss

‘@M%MWWWMWH@

strenls_Liko, o procssion d chacs. Hu}aﬂwakala ren ouks

ond askad i ﬁdwmmwﬂ«uﬁm [ 448, binn

MIMWU}&M ‘H&Ww&mm)wm

e thg Lodnlt guen mew Ho osuned cha

dede&bqo'&)humz.ﬂmtmhbﬁg ! uordy

W%mmddm&wwwm

D

HM,JWWWW S&%%%w:a@_

@ Mystery sustained in the idea of
the absent friend and her missing
family.

@ Third reference to the mother —
the ‘real’ missing.

@ Ambitious vocabulary still used
with care.

@ Good use of paragraphing — a
new paragraph is used as there is a
change of venue (the persona has
arrived home). Good continuity
between paragraphs is seen in the
cohesive vocabulary choices — idea
of ‘circus’ at the end of one
paragraph coheres with the ‘chaos’
in the opening of the next
paragraph.

@ The mother is the missing
person. We only find this out at the
end. However, the sense of
mystery is sustained till the end by
the subplot of the absent friend.
There is also suspense created.

@ Engaging and imaginative.
Strong sense of purpose and focus
on the parameters of the task.
Ideas are complex, language used
creates a real sense of character,
mystery and suspense.

Total mark awarded = 23 out of 25

How the candidate could have improved the answer

There were a few spelling and expression errors. These could have been avoided by a final check at the
end. The errors, mostly of spelling, were due to the ambitious vocabulary used. Although the composition did
not get full marks as there were quite a few errors, it was still a very good piece of work which achieved an A

grade.

e PAST PAPERS
INSIDE
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Section A — Question 2
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Section A — Question 2

Example candidate response — middle

Examiner comments

Plon
|/ Amsterclam L/ canals_pull o ~_big_boots._
L(onau‘ 7/ gndges
/ Rriciges / pone cronk Howse |

_gwamstc_aamth_cana_ks_rum_thr@%b_
|4 tbz_{&hQLe_p—CﬁQ__élﬁty (Srere | goumjum_
Lyou_cre ot gue  Sore ([ (puve
| loeen  there loecOre. Tine  Comols__GIE€
_smmkr_\q_mtgm__@@.ﬁmr (e1a(eY
| rewcikingy.
,L_&y_bmt .
.,bacu;u@_mbp%._ﬁoa\gjte [INeLULS

Mo the sewoage g
lsome very poh house loooats onck thely

:Ad@JKCi_CG_btpp\\_j > SHML_EOnosic 0 o0k G,
| —Along wt_,i:b_ou_tre CONQUS__comne:

Hodclg es_aLpom_teeV\ HNOLSONCL P Eremn,
|To_odd_t0_this_thely a0k very Gulike.
1Hov con éasiy, ISR One. lga&g € _FOr

.Mm\ﬁu ) WUL_entl Uo” ¢ JAUNnG——
Hn o _complerely  dyfferent.  dicecion, but

LS ol _pact. o the pun op the place.
|_A talking pant_op thisbecutipul_Cey |

Pmne ﬁ:mkﬂou@e_lzima&mma&m&mi_

/ bmaLL nclepenclont SNOPS :
NORS L/ Bikes - hot  Dbicos |
~ Bes cuaynaele. ‘

Sorve Nt

On.dhe  CONOS, NOOKS  rest.

ggu_m_\mo{:;me,w

of_the concds house books  aue connected
. Youcome across

LYau__see some thmt e ) or\Lu e

(S_the Anne fonk Howse. The long et |

o Immediate task focus on the
description of a city/town, as the
task is to contrast a town 50 years
later in the second piece.

e Error: subject-verb
disagreement.

Q PAST PAPERS
INSIDE
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Section A — Question 2

Example candidate response — middle, continued

Examiner comments

1S_mortn _Sfoncingin S0 you— con ok
_aroundl__the  wstoricall howse. . stands
tall (ooking out. on® tre canadangl
o lide raw of  gnoE. ikbis sancidhed
oetioeen €0 cven  taller MOWes. Not to

glve. 100 muda QualQy, r_LtS_oa_accﬁa(rd_
_Ldgnj_eapemcce_tmt_ﬂmcgn_{;bemsm
_Lts_elde_qo_ema‘j_ﬁ@_u_jrm_&s_m
Lhoppenivy g_gad__mo ke oL eet  grot-

_ep_U_L_Lm:c_eau_c@n‘t have to bwe
e bt

Amgerclom s gull do_tre donm wuth
SHMaLA__Lndepenclaint. . SNoRS._€) 3@:}_&_@6_
roods__sonurchec®oiuin_ e exduisite |
peces oncd thre oclc) - ore. In eodh $hop |
ndce  Hoere & QJFY‘\ethLm CcLigrerents
Ehat Ul no Jouok__cabd_ LoLL_eye.
bether (s te batgmicn_Cress S2Nse
| O _the  RCCE Qincl 20\ 1_&@[9’_\)5_&@1@. ¥4
Frere (s a_Souener _goorentes @
_jaculy,_(\.j Qu__ il _howve_rever Seen_Diker
lguie ~ (o theye. The  vost numier _op
them anol _the low _quality. H=aes

| Bikes _have become _Jo__popular__thad
| fules  hawe ig&; mMade. You _cannct. |
[ lock your bikey I0_cerfoun pIo@_ 0Of

[ wdl e faken ai/ay. lf  ou_ Wt
! rb_badg;c_gou_mﬁueﬁto“m&j_ﬂoweueamm
e the bilkes. aren’t. Nort}gﬁ_{/eepmg“
He yow co pongy o SToll—odon
Cgaaweep_toﬁtne_mvmﬁ_cg_tmﬁ_

- Cyclisty dont hold ©00Ck. T \B&pzdat_
Laase, they trovel fost. Redna %f‘ﬂups ause

e Some ambitious vocabulary is
used to give variation to the
expression.

G Fragmented sentence.

6 Spelling errors of ‘souvenir’ and
‘guaranteed’.

Q PAST PAPERS
INSIDE
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Section A — Question 2

Example candidate response — middle, continued Examiner comments

_trelr_breaks _con’t pwonk.X

in @ Contrasting piece sets up a
_QCDSfEEUQm_H'E_Cm&_MLLeL description of the same town 50

_(pLJ:h__uczc@_wnter Hooe (‘JCCQ_&\_QDOELJ years later.
_Qver Clouas__ ook gedesl. dre  oOter
HJDS_DQt_tL’_\YLQ@h ot thre moads.
WMH_QLE_dmLmeQ_anDO <
LOEC. Teyy Soow_notvngy Dok
ReeoNaAANNRe'As WA <e1l= vmber
LOF house  booatS N J,s_OL_Qr_mmj,CCL |
Lclecrecsrdd _aincethe quoliby e the
uateLde_omchUngomﬂquH_M
numMiger ¢ large  poats Sinilcr 10
oargey has. InCrecsed  Cousgng 4he
ofer wones o ke cangestecl_and
ovoided by oo paino Lsedt  th
_Q&CXMOCA‘@;@__MD\E:U_,J_ “u— oo
_howve _ipecome_1n_guch_aState”_thoke |
they  Camneb_be  Uech- Tre  peclals
Qe rujjy__ Qm__they_gre NOL)__NoMe)
LOr__Cthy o WA lige, _
| Tce_bRocesS._Nove heen_re0uilr_in
e \ost ARy pve. 4o ARy pas.
nfead cp ennq bolle f SOfe dhey
O_DGS 0N eyesore ond are ipul \®
LrOm  Concrete  ownch S‘I‘eegl_bcLﬁ_SjJF
L_oxe O _take o prgtez O Q
_bgdge__unqu’doe__caml_@ LWOLLCL Not,_
e drce e ageet ay e ik
Fala SENEESTN —ogo.Eadh _bndge  hou
LG e DO anche (B IS N b@_@e@

e Spelling error of ‘unfortunately’.

6 Fragmented sentence.

Q PAST PAPERS
INSIDE
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Section A — Question 2

Example candidate response — middle, continued

Examiner comments

next, 46 kS0 theres o Chaine op
-havingdaoit.esCitiedt, sligntly dercipod |
_ﬁéﬁng_@_bﬁU:\g_LDYf anCl”_ O o
adventre
_The_grierr_contosne_Anre Fronik. Hoose |
(S_poueSurrouncec By rotng ook
_JComy Conals,_and cncoecnised. Bty
Lbuildngs ond. \nouses. e garnas. ook
ke Gosofe dnumbd. Although (£ an |
MPoriond foc—of— AMSierAGas
vsrony (E_doesnt {06k OL_pOrt . Qo€
It ook like  samepne oy kon \L~
LrOM Somousneeelse andl_Squeeshe o (1€
in_G_JOp. :
Lumall_indepencion . 4aps. INNat small indep-
endlont_Snepr 2 fveny roacl @ 1S filled
Lalth__bigbronded “shops. 18 malke
things_wiossethepe IS meye  than
One O €l Shop. Trere dfe . Six
L HEMS . the  spae  op  f0Ur OO0,
TS s 00T pe@s Sl Nothlr\g SICUNCAS
out N dhe  Seop (Sndaul . Eleny dhrg |
s the Sauve. Eveny At=gwet . Jbnper ood
_dre)singwel) the Same, tedetag, Toes
_boherman, rOck _ond o vibe  ngs
Lere—and__the meaunSirecm  things have
_Ealeen coniepl. _
_le_youre  100king.par o bike_cr 460,
_clont=father (o™ Amsterctoum. They

_DQ\LE__«C;L_LL_QCSD@_%_NOLQLM_\Q_LLMEQ_
02 Seen, not. o Chowun o e ¥

- NOowl,__evengore _dakey 1o dheic rhaver
L boaurals- Stofe_Cp the ot cis_ they |

e ‘squeeshed’ is non-standard
English; ‘squeezed’ would have
been a better choice.

_ @ A rhetorical question to add a

language effect — that of a
character who sounds disappointed
with the new Amsterdam.

The candidate should have
used ‘is’ instead of ‘are’.

@ Triplet used for descriptive and
rhetorical effect to pass judgement.

Q PAST PAPERS
INSIDE
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Section A — Question 2

16

Example candidate response — middle, continued

Examiner comments

Hhope

_are, they are Jusk. ok o Dike. Therfs
NOHING - Gonnicod. oot e 100 ®
cuzqu:g__orﬁwquw:gm £ ool _hered
Jaoumg_lﬁpb_n) t_a_mﬁmm_bg_\;mf_

0 Y ‘_‘\r £~ A ,|\f __‘ " l’ =
Aswell o8 Jﬂoyer bocuCLs, _eleCiriC__Caws
have _really taken  Amstercdom oy

_Sto! MCL_CVQ_—Q: ;Zome _hey_one. They
QRO haw very I§—Caus, very Une- |
_Sseco nsoct_Of_haung —biike
p.(;t_.kﬂ "H’Pl_(?i Cy (‘QD.E?‘OD@_Cl)eanaL__
_EOr _MulbLStore y COx_Be 00 I«Ss
R _Hnis @_Lat(g_@hngu_l%_l!ﬁ&ﬂ\gtf
lda'sias ) ConnALE_ 1O grow 2
not. The people  Of  Amsterclaem
Wamopdamewmtkgmum_
Py Every. Cifizen SToms around (ke
_they_bm_ﬁﬂﬁiENme&ryfmpar mm_
0 be. fven 1L _they—OceJuSt—gowg—
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@ Unclear what ‘bad quality’ refers
to. Thought has not been properly
formulated.

@ Spelling error.

@ Part of the first piece: the
candidate has managed to add
another detail to structure the
contrasts between the two pieces.
This seems like an afterthought;
hence a brief plan would have been
a good idea.

@ The word ‘throughout’ is
missing.

@ Imaginative touches, some
appropriate sense of audience.

Total mark awarded = 11 out of 25
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Section A — Question 2

How the candidate could have improved the answer

A number of errors were made. The candidate could have checked for subject-verb disagreement mistakes,
fragmented sentences, missing words and spelling errors.

The description could have incorporated more specific details of people and activities to add to the
atmosphere.

The language used was a little unvaried: the candidate could have used more ambitious vocabulary, different
ways of starting sentences and using varying sentence lengths and types. There were a few attempts at
language effects, though not always successful because of the lack of variation of devices. This sits at the
bottom end of a C grade.

e PAST PAPERS
INSIDE
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Section A — Question 3

Example candidate response — low

Examiner comments
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o Spelling error of ‘woollen’.

e Spelling error of ‘turned’ but this
should be in the present tense
anyway.

e Tense inconsistency.

G Spelling errors: ‘happnes’,
‘reagion’.

6 Spelling error ‘rythamically’.
G Spelling error ‘sparkelling’.

e Unclear what ‘pot face’ means.
Also ‘scarecrows’ is plural; but ‘its’

is singular.

6 Subject-verb disagreement
‘rays’ — ‘reaches’.

Q The plural ‘specks’ is needed to
match ‘flowers’.

@ Tense changes from the
present to the past tense.

m Spelling error of a basic word.

@ One basket is not enough for
all.

Q PAST PAPERS
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Section A — Question 3

Example candidate response — low, continued

Examiner comments
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@ Unclear, undeveloped detail.

@ Missing word, ‘fur’.

@ A general idea lacking specific
concrete details which would have
engaged the reader.

@ Another basic spelling error —
‘happynes’. ‘Soul’ is also misspelt
as ‘sole’.

@ ‘can’ and ‘could’ — confusion of
tenses.

@ More errors of spelling —
‘excitement’ — this one is a common
error.

@ <widely awake and wild’ — a

bold claim that is not developed
much in terms of supporting ideas.

@ Spelling errors are now
frequent.

@ ‘one of my unanswered
question’ is ungrammatical; the
plural form ‘questions’ is needed
here.

@ More spelling errors.

@ A short composition lacking in
development. There is focus on
relevant content and the form is
mostly descriptive, which is
appropriate.

Total mark awarded = 6 out of 25
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Section A — Question 3

How the candidate could have improved the answer

The candidate could have developed more specific details in this short answer. There is some focus on
‘colour and light’ as demanded by the question but there is more ‘telling’ than ‘showing’ in this composition.
Imagery could have been developed further to enable the reader to better imagine the scene.

Spelling and tense errors were made throughout the composition. The candidate could have spent a few
minutes checking the work at the end to correct these errors.

Common mistakes candidates made in this question

The examiner expected candidates to write either a narrative or a descriptive piece of work in Section A,
depending on the command words in the question. For example, ‘Write the opening to a story’ in Question 1
was asking for a narrative piece, as understood by the word ‘story’, whereas ‘Write a descriptive piece
called The View from the Window’in Question 3 was asking for a piece of descriptive writing, as it clearly
stated.

Other important words were the ‘focus’ areas that each question contained. For example Question 1 asked
the candidate to create a sense of ‘suspense and mystery’; whereas Question 3 wanted the description to
focus on ‘colours and light’. For Question 2, the command words were, ‘Write two contrasting pieces’. The
question was asking for a description of ‘a town in the present day’, and ‘the same town in fifty years’ time’.
The focus words were to ‘create a sense of place and atmosphere.’ The words ‘place and atmosphere’
clearly referred to a description of a setting, though elements of dialogue could be incorporated to evoke that
atmosphere.

Candidates sometimes did not focus on the instructions within each question, for example, ‘suspense and
drama’ for Question 1 and ‘a sense of place and atmosphere’ for Question 2. Time-management skills were
lacking at times: overlong narratives in Section A often led to short, under-developed answers for Section B.

Some candidates did not spend a few minutes writing out a short plan to ensure the sound and effective
structure of an answer. A lack of a plan often leads to diffuse, rambling work.

There was frequent evidence of candidates referring to ‘amounts’ rather than ‘numbers’ of people, and the
confusion of ‘less’ and ‘fewer’ occurred even in some of the more competent submissions.

Some candidates struggled with syntax: they either created comma splices or ended sentences without main
verbs. Incorrect apostrophe use was evident in some cases, but a more common error was the absence of
punctuation.

Some candidates neglected capitals at the beginning of sentences completely.

Dangling modifiers were an issue: candidates should be taught the risks of beginning a sentence with ‘By
__ing’ formations, especially if participles are not related to the subject noun of a sentence. Some vocabulary
was incorrectly used.

Other common errors were:

e spelling errors

tense inconsistencies

lack of subject-verb agreement
unvaried vocabulary

unvaried syntax.

@ PAST PAPERS
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Section B — Question 4

Section B — Question 4

Example candidate response — high

Examiner comments
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o Lively tone established from the
outset, appropriate for young
audience. Direct address is used,
indicating a sense of audience and
involving them straightaway.

e Subtitles add to the structure of
this composition as well as a sense
of purpose.

e The use of imperatives
continues to directly address the
audience. It also lends a tone of
authority to the piece, and has the
correct function of advising the
reader.

G Rhyme helps to make the article
appealing to the audience,
particularly young people.
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Example candidate response — high, continued

Examiner comments
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6 Specific hypothetical situations
that the teenage reader would
encounter.

6 Allusion to pop culture appeals
to a teenage reader. This tells the
examiner that the candidate is
aware of the audience and
understands form.

e Continued appeal to audience
with use of idiomatic English gives
rise to tone of confidentiality.

Q Needs a comma here.
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Example candidate response — high, continued

Examiner comments
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Q ‘documentation’, ‘approval’ and
‘consent’ are all apt lexical choices
of vocabulary for this particular sub-
section.

@ Shows continued awareness of
teenage audience.
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Example candidate response — high, continued

Examiner comments
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m Continued use of idiomatic
speech shows the candidate’s
facility in English.

@ A proper conclusion to the
article.

@ Thoughtful and engaging, this
composition shows a strong
structure, voice and purpose. It
develops each point clearly, with
subtitles helping to organise ideas.
There is a concrete sense of
audience, expression is fluent and
there are very few errors.
Candidate achieves an A in this
piece.

Total mark awarded = 20 out of 25

How the candidate could have improved the answer

The use of an anecdote or two, some more varied use of language effects and a showcasing of the ability to

use slightly more ambitious vocabulary would have improved the mark.
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Section B — Question 5

Example candidate response — middle

Examiner comments
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0 Audience is made explicit from
the outset — and it is immediately
clear that this is a speech.

e Spelling error.

e Topic is made clear from the
outset.

G The speaker’s purpose is also
made clear now by a
straightforward statement of intent
and a simple indication of direction.

6 Spelling error from
carelessness (the candidate spelt it
correctly in the subtitle). Also, this
should be followed by a full stop.

@ The first point has been made
but no example has been given.
Development is minimal.

e It needs an apostrophe here —
‘one’s life’.

6 Spelling error.

e Apostrophe needed — ‘working
years’ experience’.
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Example candidate response — middle, continued

Examiner comments

ekﬂﬁﬂeﬁee, g coh,.q-“ 9\'“’9‘.,‘ oo LJ& c.ml_}_

\—-'\r\-"

el Sl ‘ovs:weg@.h‘%e Aercs

oRr \'\‘nq SxParence
=¥

il Syvently '\-wjp . :“"C Cdera s

U‘«‘--@s:ln‘\f.

™My Namd  Pen g u»:_\;egs:-\lqs_g &t o

—ieaites

Yook b-'}’ %‘bdeg tﬁa’h \Q\-.er- va‘tq-dg,ds . For & - ~co TaCse

leds  oe Wall(  fespeden 1y ovr  evsdos  esd
ome  con  oWen ca‘.e‘\ AN, )‘\"DSB e‘w_—.e’ So \;-J\'\—-\
veste  lime, db‘--\g( o \Qwec ladod Tam \h"ﬁe’
"‘J\")P,'\ <o cay <o (% S\k‘?}&h '\(\‘.&e( | erp "eﬁQQ’H;zé'_
ong, RN "“Dkg \&s:_-,—. ‘!“"-ae.

Gm "ﬁfnf-,q Q“. . -i c"’l"\b" See “")m“’ O

\@b'—}ﬁ See. ok LY S "\\ \'3 [ e%q‘ﬁc‘ e . \m)i\; Q—er
orpe  selt  se Ser My Comaidy . (B

M ekt w Mt e cae ofF IV =sddde N
\Qe_ Qo-' o, WPEA 4-0 \\s-u“e ‘%,.-\ag %‘n.gks.
St e W L.

Fedla s T feseady Mk Vot pesple.  SF Soes
BQ) - \M e .‘"d\ Q—u\\, ‘ebo\\d‘) & ot

\ew\@es e ve  Pade “'“? ae e wichey Yoy

Q'\‘L.eg bt Sl 27 SF =\ .\'@"“Q\QT:S oder Y
N e I (3 \5\,&\ @Q,p@ﬁ-_‘\\ﬁ ‘q *\'a@bls
secielq. Poviag,  vwmadee  Peeple verking o Shdyiae
=X =)
‘?yen:“ -1 &% Qg& N«:‘l 14 ) =g cq_,»,,\:-‘--‘ Ta <>

v—lar'\\'-'.-wq Eatarest. @
=

@ Unclear. Does candidate mean
‘while still at school’?

m Again, unclear here what ‘doing
a lower standard’ means.

@ Purpose is clear from the
outset. This is the opposing
argument.

@ Use of discourse markers to
indicate structure. This also helps
give a sense of purpose to the
argument.

@ A full stop is needed here to
avoid the sense of a run-on line.

@ Repeats phrase — this makes
the composition seem a little
unvaried.

@ Spelling error.
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Example candidate response — middle, continued Examiner comments
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W o Sew Mﬂp,s o) \Le, ve.,-.,‘ Spad o \Jf ﬂ% '“13
C"’d ot o o Ode Rad ‘. Y
\T\j\qe \Q'} ﬁ“\; Seses e;? QM-‘ S Yo @Some development of thought
\oe ‘e . o Slep Yhete | o tneceeced here, which helps the audience
oy el sllos B o thcrtesed ok Voud follow the logic of the speaker.
= Toe w2 ereeded bewhgiooiye o8 wde || O o & specifc example
5)(0'6&;:! =\ “‘ﬂe, ol T\"*.S WI“ \ne,\p v-i-\qa..-\ p ple.
\m\&‘-\:\d for = s os Ceopie N\ k"\@w Ahf\o‘\

T %hn‘"-*kd.@ ' @Vocabulary is apt here.
LY \-—‘.\1 oise, "N:r} “ﬂ\-\ ‘ae Cosipr "\G ‘a@‘r )
Wo e cnmivegl ‘Q;g T vl Slee \ce = \ot @Spelllng error.

~

Cos'er Yo Pe it "\'\e el =t A
icher el Bet o0 smcond  geer  ursdy il #X) Discourse markers continue to
Se o5y os Mere s = Wb powbd(Bhg the end.

Me  wark es °\fe=d~1 \eon Covered, Voot e

odegledna_ N e W bler cedes  ond  eeedhally | | 7B The expression ‘academically
o8 Ao = oo o ogher opecs,m-‘;,% “» e - || achieved age’is unclear.

Ctoe.

@ Careless spelling of ‘they’?
m\ T beleve Mo \“:3 Yeonie, o o vedie @Aconclusion is needed here.

angd »c.;dae,r-,:ol_-l achiewes ao\e_%t u:;\ il ellow The speech ends too abruptly.
o 42‘: k--s P ] ‘\)\g"‘f O \sen 4 ““e clo RN \-'-'\f-v-“ i

1 ' C e Y e W @ Overall, a consistent focus on
e Weo S Shoy Yo ofen Ml Fhdediz  Marg the relevant content and form. Apt
. wWes  ©F  ~\agd ‘\\i.e%"' R de =Mer sense of audience, and a clear

SAeod. Ry hode Mg fiece O Keoddoe  Yime structure showing two opposing
- \‘"’ o < viewpoints. Lexical choices are apt
o e %\@LS‘DP"’-\ &9 Srev ) vasia. i) 1| gng give a sense of two voices.

Total mark awarded = 15 out of 25

How the candidate could have improved the answer

While there was a consistent focus on the topic in the candidate’s answer, the number of errors, especially of
spelling and punctuation, brought the candidate’s mark down. The use of specific examples would have
made the arguments more convincing and persuasive. More varied use of language effects could have made
for a more engaging set of speeches.
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Section B — Question 6

Example candidate response — low, continued

Examiner comments

_dehnk_dmd__Seeeete suyyl
_bettec @ _ferding_o!
_rheve s\l no us.

o _advggn ety fov ol |

B contHnues

T (v of ndvatris) Eolluion)

LooX ot the dwount: of waste gane that ave given gff
L Tede Ndac_ganan will And®his froms only avie fuchory, |
L bo__ivnugive e amguny of s_mﬁ)iwyj_em%_iqg_.
H‘?'—m‘“'ﬁ'l‘w Hae__amnguny 9% este em'mr;v-.&. e woadey
_bodien . What would wié do_withaout fiesh alc_amd _freh
,@ite}\il._hl&;.;bﬂﬂ_dﬂm_mm&gb__h_w_mg__:[EM_JLﬁﬁ.ﬂﬁ_m_u. i

= Ql\_\xﬁm_omd_gLQ\so.Lwntm}n_g-_Qmmm_w.mm_i:@nm‘
-we_Shauld_wocl togother amd Tolfe Simpl(_ackions o pay
e baon Mother Carth.

(£l of o Powwd tomgtion From 6 bud)

| Tre_Fest thingwit_ Shou' bt grow eeartplanhs amnd
[toten . They are beauhiful aten't they? So why et grou
._ﬂ_ﬁemmff_-m_.emmmie_mﬂd tovnaske (Y vt beatfyl
.M_gﬂw_@@mig_-per:c.m:t.ed;._d:ﬁ_d_u_r_pﬂpuiadiomﬂ%
.m_m_d:em%ui,_u_mg__ fadved Oovcomt gy |
owe fce. Every one ot you bhaa®the power To_this wodd
.Lbiﬁr_@.achi@@h;\ﬂ_n;ma.HM oft choice -

.h_{z_c.oxn&x\_j-_l\l-i_&‘nwfnj a_ gy eoaey.. Eavh_From S‘QC{_(_(’._)M_M...

._T_Rubf._\fig_bhbﬂag_u_uj“_mmaLia tHhe hnam@. X _our

._temfaﬂms;‘&u_bmd‘_fn_lme_c‘_lﬂm_aLthj‘Lmenet,@_
__QU_Q__U\-_S'&_%QM choote it & be dull _er hea\ﬂw\'7

._uﬁﬂfﬂmmn_mmtﬁf_wmg_g_q_Ev.miﬂmo_._ﬂ;ﬂﬁ@_réu_bh&
Trovweery ghould e ubed amd_wece mw e done i
_ﬂE.M(h_&ﬁi@uﬂmdiﬁ_iweL_I.f_gw dant waent #Hnt

_M_Cg(m@v_rmh;m_qhnmpmuﬂw&_ﬁﬂm_
._almds_g_iAw_Q_ojmf‘-_MLobal_w_aLmL@_iﬂ_ti.&f.\.a_g_d_u.Li%_mﬂmﬁb_-_.
_Efnpping_iﬁ_f_&s_uﬂlg_a_;mw_aam_m amd_wil) toke
oS, out we nnwal Skael ke effovia now . oefore its
|_tog_laheSdelin e ovdar to Yeahwd Eavth - ita orauiy wihece
_humans_amd_gther_sptuie live_in_havmeny,_a betier Auture,

_oxygon.dy_brethe, we ace poluding whal we need To |

_a__betier |ife.

@ Spelling error.

@ Subject-verb agreement error.

@ ‘feeding off’ is an unclear
expression.

@ Punctuation is needed, either a
full stop or a colon.

@ More sentence fragmentation.
@ This should be singular.

@ Spelling and grammatical
errors.

#) Word ‘do’ is missing.
@ Spelling error.

@ A question mark is needed
here, as this is a question.

@ ‘(one) hundred’ — missing word.
@ Subject-verb agreement error.
This should read ‘Every one of you
has the power....

@ Missing apostrophe.

@ There is a missing word here.

@ This should be a colon.

@ ‘loved’ is an inappropriate word
here.

@ ‘More of public transport’ is an
unclear expression.

@ ‘For’ is needed, rather than ‘of’.
@ Wrong word — should be ‘caps’.
@ This should be a comma, as it
should lead on to ‘in order to

restore...’.

Total mark awarded = 8 out of 25
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Section B — Question 6

30

How the candidate could have improved the answer

This composition was relevant, with an appropriate structure in place. Language effects were attempted.
Expression was unclear at times and did not flow easily.

The candidate made frequent errors in this composition: inconsistent use of pronouns, sentence
fragmentation, spelling and punctuation errors, use of imprecise or unsuitable vocabulary, subject-verb
disagreement. Although the content was relevant, the ideas were not always clear and ideas could have
been developed more carefully and appropriately. The form was appropriate, but not always consistent —
there were instances where the text did not read like a voiceover, e.g. in the use of ‘| guess’ which is
unsuitable for a voiceover. The candidate could have made sure that all elements of the text cohered to the
style of a voiceover.

Common mistakes candidates made in this question

The examiner expected candidates to persuade, argue or advise in Section B, depending on the command
words in the question. For example, Question 4 ‘Write a magazine article called Travelling for the First Time’
clearly asks for offering advice and guidance. This meant that candidates had to give suggestions in a
positive and thoughtful way, using language effects to steer readers to accept the ideas as beneficial to
them. The purpose and audience were understood to be travel advice for ‘older teenagers’ travelling for the
very first time without their family, so candidates had to select their vocabulary and phraseology to appeal to
that age group.

For Question 5, the words ‘debate’ and ‘argues’ should have alerted candidates to the form expected; and
the command was ‘write two speeches’ with ‘opposing attitudes and viewpoints’. Candidates therefore had to
formulate two different speech texts with completely different points of view. The more sophisticated
candidates also created two different voices with varied styles of speaking to emphasise two different
personas.

For Question 6, candidates were told to ‘write the script of a voiceover’. The examiner expected candidates
to tie in the content with some visual elements of a TV documentary, not merely write an essay with a
passionate argument or a quasi-speech exhorting young people to ‘step up to the plate’. There was no need
to write ‘stage directions’, but candidates should have written so as to reference the imagined visual
components in the documentary. Candidates should have spent their time in using language persuasively
and convincingly.

The more successful ‘Writing for an audience’ answers kept the target audience in mind throughout and
adopted language and structural techniques to match that audience. Less successful responses were unable
to use the conventions of different forms, establish a mature, credible voice or develop a well thought out,
logically organised line of argument. Across Section B (as in Section A) there was a range of technical and
structural errors which often impacted on the clarity and accuracy of expression. The most successful
responses avoided this tendency.
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